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Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section-A / Vs—dh

(Long Answer Type Questions) / (€T IR T%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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What do you understand by correlation and regression
analysis ? Explain different methods of correlation and
regression analysis.

TR U4 Ui fOvelvor ST R’ 9We § ?
19 A= TPl @1 o PIRTC |

What is central limit theorem ? Explain different
measures of central tendency with suitable example.

b URAA THE R 2 7 deed YgRT AU @
faf= faferal &1 SfId 9SSR gRT 9uig BIfTU |

Given the bivariate data :

X 1 5 3 2 1 1 7 3

Y : 6 1 0 0 1 2 1 5

(@) Fitaregression line of Y and X and hence predict
Y if X =10.

(b) Fit a regression line of X on Y and hence predict
XifyY=25

feoR SHF®R 39 YPR 2 :

X 01 5 3 2 1 1 7 3

Y : 6 1 0 0 1 2 1 5

(@) Y B X W YT IO g3T TAT Y HT A9
g3y e X = 10. |

@ X @ Y R URHT FHHOT g3y qdal X Bl
A g3y I Y = 2.5

Explain different techniques of business forecasting
with their limitations.
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (e ITRII Je)

Note : Section ‘B’ contains eight (08) short answer type

qre
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questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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What is an Index number ? Explain its applications.
YADIG 1 & 7 $9h ISWINT 15y |

What do you understand by measures of central
tendency ? Explain any two important measures.

H1g ygiy @ A | Y R® awen 2 ? fael
AEAYUl AUl BT qUH DI |

What is time series analysis ? Explain the term trends
analysis.

e ool fagelwor @ g ? yghy fagelyor @1 quie
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Explain the difference between dispersion and
skewness.

IMIREROT TAT favdar & i IR BT IU DI |

Karl Pearson’s coefficient of sekwness of a distribution
is + 0.32. Its standard deviation is 6.5 and mean is
29.6. Find the mode and median of the distribution.
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forelt foTRor &1 Fret frRds fwwar s + 032 |
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6. Two lines of regression are X+2y-5=0 and
2Xx+3y—-8=0 and variance of x is 12. Calculate

the values of X, ¥,c2 and 7.
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2Xx+3y-8=0 & TA x B TRI 12 T
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7. What do you understand by regression analysis ?
Provide limitations of regression analysis.

gfaae favewor 9 o @ wEed 2 ? ufaad
faveiyor @AM 9d1sv |

8. Explain quartile, decile and percentile with suitable
examples.

gqid, TUAS AT YlORIad B IfAd ISR GRI
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Section-C / YUs—T

(Objective Type Questions) / (G Je-)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.
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Write True/False against the following :

fy=ferRad & M 9 /a9 forlRau
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Decile divides the data into ten equal parts.
TG il B T aIGR AR | dfedl 7|

The value of coefficient of correlation lies between + 1
and — 1.

e UG B AN +1 T —1 B Y B 2

In regression model y = a + bx,b indicates the slope
of regression lines.

Ui Afed y=a+bx, § b URWTHT FHBROT BT
ITe QI B |

The mean, median and mode of a normal distribution
are equal.

AR fadReT @1 A, AfAST GO 9gad WIER BN
g |
If the mode and mean of moderately symmetrical

distribution are 32.1 and 35.4 respectively, then
median will be 34.3.
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6. For median 18.8, Q; = 14.6, Q3 = 25.2, coefficient of
skewness will be 0.207.

iadT 18.8,Q; =14.6 T Qg = 25.2, oI fawHar
T 0.207 BT |

7. Skewness is a measure of assymmetry of distribution
of a real value random variable.

fayar aRafds Al & AGREE W DI A BT
A & |
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8. Factor reversal test is satisfied of Py; x Qg = ——= 4
2Py do
x
-qﬁ POlXQOl:ZPqul %, Fﬁ hNh Wﬁm
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A BT B |

9. Correlation describes the degree to which one variable
is related to another.

e, U R bl A TR W G Bl AT QI
g

10. Inacircular test Py; x Pj» x P is equal to 1.
THTI TETT § Pyy x Py x Py T A 1 & 18R BIT
gl
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